
5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

L. Lapointe

12500 TI Boulevard. Dallas, Texas 75243

Engineer:

Drawn By:

FILE:

L. Lapointe

*For optimal performance refer to the table below

*

*

*

*

*

*

C1      C2       R5         R6       R3      R4

No Filtering    2kohm   2kohm    0ohm      0ohm      DNP     DNP

Feedback Filter Configuration   1nF      1nF   40.2ohm   40.2ohm   2kohm   2kohm

Vocm

PD

Vs-

Vs-

Vs+

PD

Vocm

Vs+
Vs-

Vs+

Vs+

Vs- Vs+

Title

Size Document Number Rev

Date: Sheet o f

CIRCUIT TYPE A

THS4531ARUN Extended Range

B

1 1Thursday, February 27, 2014

Title

Size Document Number Rev

Date: Sheet o f

CIRCUIT TYPE A

THS4531ARUN Extended Range

B

1 1Thursday, February 27, 2014

Title

Size Document Number Rev

Date: Sheet o f

CIRCUIT TYPE A

THS4531ARUN Extended Range

B

1 1Thursday, February 27, 2014

SMA

END

J3

1

5234

C14 DNPU2
LM7705

CF+
1

VSS
2

VDD
4

VSS
5

VOUT
6

SD
3

CRES
7

CF-
8

Z_STANDOFF3

STANDOFF ALUM HEX 4-40 x .750

R5 DNP

C13 4.7uF

C1 DNP

120 OHM @ 100MHz

FB1

C8
DNP

Z_STANDOFF SCREW3

PANHEAD SCREW 4-40 x 3/8

R10

49.9
C5

2.2nF

R7 121

1

R17 DNP

R2 976

C19

0.1uF

1

JP3
SD SHUNT 1-2

1

3
2

R1 976

-

+

U1

THS4531ARUN

V
IN

-
6

V
O
C
M

7

Vs+
10

V
O
U
T
+

9

V
IN

+
4

Vs-
5

V
O
U
T
-

1

P
D

3

N
C
1

2
N
C
2

8

C9
10uF

R16 10K

C12 DNP

J6

Vs+

R13

51.1

JP1

PD

SHUNT 2-3

1

3
2

Z_STANDOFF2

STANDOFF ALUM HEX 4-40 x .750

SMA

END

J2

1

5234

C10
0.1uF

R15 10K

C11 4.7uF

R3 2K

R9
DNP

C4

220pF

Z_STANDOFF SCREW2

PANHEAD SCREW 4-40 x 3/8

R4 2K

C6

DNP

1

Z_STANDOFF1

STANDOFF ALUM HEX 4-40 x .750

C7
DNP

SMA

END

J1

1

5234

C20
10uF

R11

49.9

C18
10uF

C3

220pF

C2 DNP

C15
470nF

R6 DNP

Z_STANDOFF SCREW1

PANHEAD SCREW 4-40 x 3/8
Z_STANDOFF4

STANDOFF ALUM HEX 4-40 x .750

C23

0.1uF

J5

GND

C21

0.1uF

Z_STANDOFF SCREW4

PANHEAD SCREW 4-40 x 3/8

120 OHM @ 100MHz

FB2

SMA

END

J7
Vocm

1

5234

R14
DNP

1

C17

0.1uF

C22

0.1uF

C16
22uF

SMA

END

J4

1

5234

JP2
Vs- SHUNT 2-3

1

3
2

R12

51.1

R8 121


